PROBLEM:

Four different sinusoidal signals are defined by the following representations:
(a) x,(1) = e iT/3ei46n1 | Gin/3 o= jd6mt
(b) x,(t) = 6cos(46mt + 57/3)
(© xc(1) = %e{(3 + j3+/3)e/ )
(d) x4(t) = 12cos(2r (23)t + 7 /3)

For each of the following signals, pick one of the representations above that defines an identical signal.
Write your answer ((a),(b),(c),(d)) in the box next to each signal.

Ans= 3€j7r/3e—j46m + Se—jyr/3ej46m
Ans= Ne{12¢/7/3¢/4671)

Ans= 12cos(Qr (23)t — /3)

Ans= %{126_j”/3ej2”(23)t}

Ans= 6 cos2m(23)t — m/3)

Ans= 3(€j7r/3ej467rt +e—jﬂ/3e—j46nt)




